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Quiz 4.1 REVIEW - General (| \>)
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1. Dilate the image by 3 arguXd the point (4,-2) 2. Find the scale factor and the center dila(tion
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3. Are these triangles similar? 4. Are these triangles similar? 5. Are these triangles similar?
If so, by what theorem? If so, by what theorem? If so, by what theorem? -
Show all yoz/zqr work. Show all your work. Show all your work.
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7. 1s either AJKL or ARST similar to AABC?
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6. Are these triangles similar?
If so, by what theorem? Show all your work. Show all your work.

Then, solve for the values of xand y. /
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8. Given: AC = 27, BC =21 | ' Statements Reasons

EC=14;, DC=18 1. AC=27; BC = 21;EC = 14; DC = 18 | 1. (J_N@,\
Prove: ABCA~AECD 27 (
—hz‘("_‘@‘ =[G = %- =1.5 2. Corresponding Sides are
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“ 4. ANBLA ~ AECD 4. SAS ~ Theorem
9. Given: 4E || BD | Nl Statements : Reasons
Prove: AACE~ABCD 1.4k BD L Given
" Zich = L. A 2. Corresponding £'s are congruent
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4. AA ~ Postulate

10. c
9.33 cm po— Suppose a new triangle is constructed with vertices D, £ and £ Which

of the following sets of information about the new triangle are
sufficient to prove that the new triangle is similar to AABC? Choose

all that apply.
bk a] EF = 18.66 cm d] msF = 126°
e DE = 24.40 cm DF = 3842 cm
- DE = 24.40 cm
men = 23
mesF = 31° e] msF =126°
DF = 38.42 cm
A c] msF =31° EF =18.66 cm
DE = 12.20 cm

11. Which of the following sets of conditions could be used to prove AABC~APQR? Select all that apply.
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